A

RR—— f\ - e—

o (= 0,c0) B [— 1 l] Bounded
Odd funchion  Con't Funchon No FM/ VA
\ncre&\Hj ) Decr&aus_f&n%(ma((val, Hbs i s - |

x—wo 25 £(x) DNE xa oof(&) DNE_ Abs maois |
Cscilletes bdw ot =¥t

(%)= Asin(B.(x-c))*
22 A “omplitude. haignt fror
R icaite zgr‘PenodoFMMmT \&m one
"o C-pose shift  horzonts
| D'T‘ IA,IM& )

2=




Sl

Ex*|  Graph the \Q)l\owﬂ\q ond Telenhi iy
B any fmmFowHonS and. fle /;equmagu
a) =228 x
| . = ‘)A\

Start-@ X‘-‘“%m
mid @ 5'1'0




e R h;‘:'d @ \‘»f JW__“ - A ‘
in (X "g ) i "{_ d

535 PR

o _A__EX}';Z;,_ Hfg'd fide occurs @ 9:36 om 4is 2. Imdecp-
Low hde occuvse 3°H Bom 45 2. mdeep .

Hssume Hae deptht of tne woatkeris o
 Sinusoidal funetion of tme w/ o e e

S . ARSI, RS —— \WLC X W

period of half a lunar day (v12:24
Write an egquation thed models the

e ,______h,_k__~#d.epﬂ:h¢a£if;’k%_\|&o¢et,, D ’
midline y= === Y  y-78iihctes
amphiudL !A\_’; 2'77:2" =5 (0.9 14=0. 3 melers
onase shif A hrs *3Gmin = 9 Jnr:s’«é@mﬁ#&%ﬂ
L o . = Qs +0.0 hys
%% 3 ol o« \0 =
since #i Hre highest point i
9.0 V\VS, use. costne-l
T =12 hes + 24 min

/

ogn‘oci




